

COSMOPOLITAN'S  
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL  
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

**Result Register (Regular Exam.)**

PROGRAMME : Bachelor of Science (Data Science)

EXAMINATION : October - 2025

Regular  
SEMESTER : I

Sr. No.	Roll No.	Seat No.	Name	Python Programming		Database Management System		Python Programming and		Introduction to Statistics and		Introduction to Management		Ms Excel for Business Analytics		Graph Theory		Business Communication I		Indian Knowledge System		Environmental Management		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
1	72	FBSCDS25001	AGRANI ARDIII. REHMAN ARFAT AFRIN	20	12	16	13	14	27	10	17	16	20	17	25	20	24	16	25	17	15	15	21		43	418	182	22.0	8.27	A+
2	2	FBSCDS25002	ANSARI AVED AZIZUR REHMAN SOFIYA	14	12	15	12	13	18	19	12	5	12	11	16	20	12	13	12	17	12	5	12		AB	262	94	16.0		F
3	12	FBSCDS25004	/ JAIN HARSHIKA VIMAL DIMPAL	18	21	18	21	20	28	20	30	17	28	19	29	20	28	19	26	16	18	16	19		49	480	202	22.0	9.18	O
4	13	FBSCDS25005	/ JAIN VANSHIKA PARASKUMAR BHARTI	20	21	19	21	20	30	20	29	18	29	15	22	20	28	17	25	16	18	18	23		48	480	204	22.0	9.27	O
5	17	FBSCDS25006	/ KAUNDER S SANGHVI SURESH SELVI	14	5	14	12	18	AB	19	12	14	20	8	AB	19	6	15	25	16	17	13	12		44	303	98	14.0		F
6	19	FBSCDS25007	/ KHAN AAMIRA MUSTAKEEM KAISAR JAHAN	20		19		18		20		16		17		20		17		17		14			178	0				F
7	20	FBSCDS25008	KHAN FARDEEN FEROZ REHANA	18	22	18	20	20	30	20	28	13	29	12	18	19	28	16	24	17	23	14	23		46	461	200	22.0	9.09	O
8	23	FBSCDS25009	KHAN SAAD ABDUL MANNAN SHABANA	17	12	18	19	15	30	20	28	16	17	13	19	20	21	18	24	17	17	14	14		35	407	176	22.0	8.00	A+
9	24	FBSCDS25010	KHAN SHERIYAN ASLAM SAJBUNISSA	16	15	18	19	14	23	20	12	16	28	14	21	19	24	16	23	17	18	15	19		42	412	180	22.0	8.18	A+
10	25	FBSCDS25011	KHAN ZUBAIN AIJAZ NILOFER	15	2	14	12	14	16	18	20	16	12	10	15	19	12	12	16	17	16	12	12		40	320	128	20.0		F
11	27	FBSCDS25012	KHATIB MOHD AZEEM MANSOOR ASMA	20	23	20	24	20	30	20	28	18	26	18	27	20	26	16	27	17	19	17	23		46	487	210	22.0	9.55	O
12	29	FBSCDS25013	/ LAL SIMRAN MUKESH KANCHAN	16	12	14	12	16	28	18	22	17	13	10	15	19	24	17	19	17	15	14	12		47	380	164	22.0	7.45	A
13	31	FBSCDS25014	/ MAVINKURVE AARYA SANTOSH RADHIKA	20	21	19	17	19	28	20	26	15	17	17	25	20	28	15	25	17	18	17	18		45	450	198	22.0	9.00	O
14	32	FBSCDS25015	/ NACHRE KRISHNA NAYAN NIKITA	20	18	18	13	17	28	20	28	15	26	17	26	20	27	18	24	17	17	14	18		47	453	196	22.0	8.91	A+
15	33	FBSCDS25016	/ PADWAL PRISHA NARENDRA SHEELA DEVI	20	16	20	14	20	26	20	27	15	27	16	24	20	21	17	21	18	15	16	18		48	442	190	22.0	8.64	A+
16	34	FBSCDS25017	/ PARMAR AREEBA ALLARAKHA RUBINA	20	AB	17	AB	18	AB	20	AB	14	AB	8	AB	20	AB	18	AB	17	AB	15	AB		42	209	18	2.0		F

COSMOPOLITAN'S  
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL  
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

**Result Register (Regular Exam.)**

PROGRAMME : Bachelor of Science (Data Science)

EXAMINATION : October - 2025

Regular  
SEMESTER : I

Sr. No.	Roll No.	Seat No.	Name	Python Programming		Database Management System		Python Programming and		Introduction to Statistics and		Introduction to Management		Ms Excel for Business Analytics		Graph Theory		Business Communication I		Indian Knowledge System		Environmental Management		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE						IA	SEE
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						0/0	20/50
17	35	FBSCDS25018	PATEL MOHAMMED SIRAJ YASIN ANEES	19	13	16	12	19	20	19	20	13	13	10	15	19	12	14	15	17	15	14	14		46	355	150	22.0	6.82	B+		
18	36	FBSCDS25019	PAWASKAR ROHAN DEEPAK DEEPIKA	14	12	15	12	17	25	18	4	16	20	10	15	19	17	14	12	17	12	16	12		42	339	132	20.0		F		
19	37	FBSCDS25020	PRAJAPATI SHUBHAM SANTOSH REKHA	16	18	15	14	14	28	19	25	17	20	10	15	18	22	13	23	18	15	16	12		30	382	166	22.0	7.55	A		
20	39	FBSCDS25021	/ RAKHANGE UMayRA IRFAN HASEENA	17	14	17	13	14	25	19	18	16	24	15	23	19	27	18	24	18	18	16	20		47	425	186	22.0	8.45	A+		
21	40	FBSCDS25022	/ RATAN JOYNA GABRIEL SHERIEN	20	27	20	18	19	30	20	28	16	21	14	21	19	28	19	26	16	17	15	12		45	451	192	22.0	8.73	A+		
22	44	FBSCDS25023	SAYED SADIKH SALAM ALI SHAMSHAD	17	14	14	12	15	28	19	21	15	13	11	16	20	24	14	23	17	12	13	12		46	379	162	22.0	7.36	A		
23	46	FBSCDS25024	/ SHAIKH ALFIYA MOHAMMED AFZAL ASHRAF JAHAN	16	16	18	20	16	19	19	25	17	19	10	15	20	21	15	20	18	16	13	15		46	395	172	22.0	7.82	A		
24	47	FBSCDS25025	/ SHAIKH ALFIYA MOHD IQBAL SHAHANAJ BEGUM	20	25	18	20	20	30	20	30	16	28	17	25	20	29	18	25	17	19	17	20		47	484	206	22.0	9.36	O		
25	48	FBSCDS25026	/ SHAIKH ALISHA MOHD SAYEED RIZWANA	16	15	14	12	17	27	20	21	15	24	11	16	20	12	15	23	17	15	14	15		48	388	164	22.0	7.45	A		
26	49	FBSCDS25027	/ SHAIKH ANUSHA HANIF ANISA	15	3	15	12	17	17	19	14	15	12	11	17	20	AB	16	18	16	12	13	AB		47	309	106	16.0		F		
27	51	FBSCDS25028	SHAIKH FARAN FIROZ FIRDOUS	15	13	15	12	13	16	19	12	6 @2	20	9	14	19	20	12	21	16	16	12	12		47	341	140	22.0	6.36	B+		
28	53	FBSCDS25029	SHAIKH MEHBOOB AHMED RIZWANA	20	25	18	26	16	30	20	29	16	22	17	26	19	29	17	26	18	22	16	24		46	485	210	22.0	9.55	O		
29	54	FBSCDS25030	SHAIKH MOHAMMAD AZA IQBAL TASLIM	19	12	17	18	16	27	20	21	13	20	15	22	20	25	14	23	18	18	14	16		32	402	178	22.0	8.09	A+		
30	55	FBSCDS25031	SHAIKH MOHAMMED FAZIAN NIYAZ AHMED HASIBUNNISA	16	25	15	24	16	28	19	26	14	28	13	19	18	28	15	26	17	16	16	18		42	443	192	22.0	8.73	A+		
31	56	FBSCDS25032	SHAIKH MOHD AAMIN AKBAR RUKSANA	15	20	16	16	18	23	19	22	16	24	15	22	19	16	13	20	16	14	15	12		46	397	174	22.0	7.91	A		

COSMOPOLITAN'S  
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL  
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

**Result Register (Regular Exam.)**

**PROGRAMME : Bachelor of Science (Data Science)**

**EXAMINATION : October - 2025**

**Regular  
SEMESTER : I**

Sr. No.	Roll No.	Seat No.	Name	Python Programming		Database Management System		Python Programming and		Introduction to Statistics and		Introduction to Management		Ms Excel for Business Analytics		Graph Theory		Business Communication I		Indian Knowledge System		Environmental Management		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE						IA	SEE
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						0/0	20/50
32	57	FBSCDS25033	SHAIKH MOHD AAMIR JAVED NILOFAR	15	12	15	12	15	16	18	14	AB	12	9	14	19	14	15	12	16	12	11	12		39	302	116	20.0		F		
33	59	FBSCDS25034	SHAIKH MOHD UZAIR MOHD IRSHAD YASMEEN	17	16	16	17	14	27	20	27	16	28	13	19	20	22	15	24	17	16	16	13		45	422	182	22.0	8.27	A+		
34	60	FBSCDS25035	SHAIKH MUZAMMIL HUSSAIN ASIYA	15	12	17	13	15	27	19	14	12	22	11	17	18	25	17	23	17	19	16	12		37	383	166	22.0	7.55	A		
35	61	FBSCDS25036	/ SHAIKH SADIYA BASHIR SHAHEDA	17	14	15	12	17	27	20	29	15	20	10	15	20	12	13	20	17	15	16	13		47	385	164	22.0	7.45	A		
36	63	FBSCDS25037	/ SHAIKH SHIFA ISMAIL RUBINA	20	25	16	18	19	30	20	29	16	25	13	20	20	28	14	24	17	17	15	19		49	454	190	22.0	8.64	A+		
37	64	FBSCDS25038	/ SHINDE PRACHI SANDIP SANJANA	20	20	18	12	19	22	20	28	16	24	13	19	20	28	16	22	17	17	14	12		42	422	182	22.0	8.27	A+		
38	71	FBSCDS25039	/ YADAV KHUSHI RAGHUVENDRA GIRJA	19	15	16	15	18	20	20	25	14	21	10	15	20	27	15	25	17	18	12	19		35	396	174	22.0	7.91	A		

COSMOPOLITAN'S  
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL  
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

**Result Register (Regular Exam.)**

PROGRAMME : Bachelor of Science (Data Science)

EXAMINATION : October - 2025

Regular  
SEMESTER : I

Sr. No.	Roll No.	Seat No.	Name	Python Programming		Database Management System		Python Programming and		Introduction to Statistics and		Intellectual Property Rights		Ms Excel for Business Analytics		Graph Theory		Business Communication I		Indian Knowledge System		Environmental Management		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE						IA	SEE
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30						0/0	20/50
39	7	FBSCDS25003	/ GUPTA MONIKA SANJIVKUMAR DOLLY	16	17	15	17	20	20	17	28	AB	16	13	19	17	28	AB	21	8	16	AB	13		49	350	128	16.0		F		
40	1	FBSCDS25040	_ ARUL CINOWIN ANTHONY SUDHAKAR MARIA JESIKALA	17	15	15	12	13	25	19	28	9	14	15	23	18	22	18	25	16	17	14	13		42	395	166	22.0	7.55	A		
41	3	FBSCDS25041	BHARTI SUNNY GUDDU REENA	15	12	15	13	13	16	20	14	16	12	8	12	20	22	16	14	17	12	13	3		46	329	132	20.0		F		
42	5	FBSCDS25042	/ DHANDRE DIKSHA DATTA VANDANA	18	20	18	17	15	30	20	27	17	20	14	21	20	28	19	26	17	17	15	20		46	445	194	22.0	8.82	A+		
43	6	FBSCDS25043	DSOUZA PRESTON PATRICK PRECILLA	19	19	16	12	15	30	20	27	16	13	13	20	19	24	18	23	17	15	14	19		29	400	172	22.0	7.82	A		
44	8	FBSCDS25044	GUPTA SANDIP SWADESH BEBY	15	12	14	13	14	27	18	28	16	18	8	12	19	16	16	23	17	13	14	13		40	366	154	22.0	7.00	A		
45	9	FBSCDS25045	GUPTA VINAY KUMAR RAJESH RASHMI	18	24	17	17	15	27	19	28	18	19	14	21	20	16	17	26	18	18	12	16		41	426	186	22.0	8.45	A+		
46	10	FBSCDS25046	/ GURAV NISHITA NITIN MOSHMI	20	18	18	14	19	30	20	27	17	15	17	25	20	24	16	20	17	17	16	12		47	433	186	22.0	8.45	A+		
47	11	FBSCDS25047	ISHI NIKHIL SUDAM ANITA	18	22	15	14	20	27	20	27	16	15	14	21	20	27	16	20	17	16	14	12		47	418	180	22.0	8.18	A+		
48	14	FBSCDS25048	JAIWAR NILESH ARVIND ANITA	16	12	15	12	14	16	19	16	16	12	8	12	18	15	13	23	9	14	12	12		40	324	136	22.0	6.18	B+		
49	15	FBSCDS25049	JARMAN ABDUL MANNAN MOHD HUSAIN MEHBOOB BEE	15	18	17	17	14	30	19	19	16	14	13	20	20	17	18	17	18	15	12	15		AB	344	146	20.0		F		
50	16	FBSCDS25050	KADAM ROHIT SANDEEP SANJEEVANI	15	14	16	14	16	27	20	28	16	15	11	16	20	15	17	19	16	15	15	17		47	391	170	22.0	7.73	A		
51	18	FBSCDS25051	/ KESARKAR JANVI EKNATH GITA	20	20	17	18	20	18	20	22	16	13	15	23	20	25	16	23	17	13	17	12		48	416	180	22.0	8.18	A+		
52	21	FBSCDS25052	KHAN MOHAMMAD YASIR AMJAD SABA	16	20	14	15	13	27	19	26	16	12	11	16	20	21	17	24	17	17	14	12		AB	347	148	20.0		F		
53	22	FBSCDS25053	KHAN MOHAMMED AFHAAM MOHAMMED ILYAS SUGRA	18	12	15	12	15	22	17	15	16	12	9	13	17	3	6	14	18	12	13	12		AB	271	98	16.0		F		
54	26	FBSCDS25054	KHARAT SAMEER SANJAY RESHMA	17	14	15	12	15	16	19	12	16	12	8	12	18	18	15	20	17	12	12	12		28	320	136	22.0	6.18	B+		
55	28	FBSCDS25055	KUSHWAHA SUNNY BRIJESH MANJUDEVI	18	19	18	13	19	18	20	28	18	13	15	22	20	28	16	23	17	14	13	18		32	402	174	22.0	7.91	A		

COSMOPOLITAN'S  
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL  
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

**Result Register (Regular Exam.)**

PROGRAMME : Bachelor of Science (Data Science)

EXAMINATION : October - 2025

Regular  
SEMESTER : I

Sr. No.	Roll No.	Seat No.	Name	Python Programming		Database Management System		Python Programming and		Introduction to Statistics and		Intellectual Property Rights		Ms Excel for Business Analytics		Graph Theory		Business Communication I		Indian Knowledge System		Environmental Management		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30					
56	30	FBSCDS25056	LEWIS ASHLEY RALPH DOROTHY	16	13	16	4	13	AB	15	12	AB	12	8	AB	17	12	9	22	16	15	6	12		45	263	82	12.0		F
57	38	FBSCDS25057	QURESHI MUSAIB KHALID	16	12	15	4	14	18	20	3	16	5	10	AB	20	2	16	16	18	16	15	12		AB	248	64	10.0		F
58	41	FBSCDS25058	RUPANI ALIABBAS DOSTMOHAMMAD NEZMEEN	15	12	15	12	16	16	19	1	16	5	8	12	19	4	13	12	16	12	8	4		36	271	80	14.0		F
59	42	FBSCDS25059	SAH SURYAKANT KUMAR VIJAY KUMAR GAYTRI DEVI	15	12	15	15	16	25	19	26	17	14	9	13	19	23	15	22	17	13	14	12		41	375	162	22.0	7.36	A
60	43	FBSCDS25060	SATPUTE SARTH SUNIL SARITA	15	14	14	13	13	25	19	12	17	12	9	14	18	15	13	22	18	18	13	5		40	339	136	20.0		F
61	45	FBSCDS25061	SAYYED MOHAMMED NABEEL MOHAMMED FAROOQ PARVEEN	14	12	15	13	14	16	14	28	17	14	9	14	17	12	14	13	17	18	10	17		45	346	146	22.0	6.64	B+
62	50	FBSCDS25062	SHAIKH ARSALAN SHAKIR RABIYA	16	21	17	17	18	30	17	15	16	12	12	18	20	12	16	23	16	12	15	13		40	376	162	22.0	7.36	A
63	52	FBSCDS25063	SHAIKH IMAAD IMRAN MEHREENA	15	12	14	12	13	16	18	12	7	5	8	12	19	2	4	19	5	16	4	6		AB	219	54	10.0		F
64	58	FBSCDS25064	SHAIKH MOHD NURANI ISLAM AJMATI	15	26	18	19	18	28	20	30	18	21	17	25	19	24	16	23	17	19	14	21		30	443	192	22.0	8.73	A+
65	62	FBSCDS25065	SHAIKH SAJID SABDAR ALI RUBINA	20	19	16	12	19	AB	19	27	17	17	9	13	18	17	14	22	18	18	14	17		36	362	148	20.0		F
66	65	FBSCDS25066	SINGH DRON SANJAY GEETA	16	AB	15	3	15	AB	20	15	16	12	8	12	20	12	15	12	18	13	12	4		45	283	94	14.0		F
67	66	FBSCDS25067	SIRVI ARVIND GANGARAM MOWNI	15	6	15	12	15	16	17	3	16	12	8	14	19	17	13	20	17	14	12	12		48	321	116	18.0		F
68	67	FBSCDS25068	SWAMI JONAH CHRISTOPHER SEEMA	14	16	14	12	15	24	18	28	20	12	8	12	18	14	13	25	17	22	12	18		41	373	160	22.0	7.27	A
69	68	FBSCDS25069	SWAMI VINAYAK PRADIP NAGMANI	14	14	14	13	16	19	19	28	18	19	13	20	19	21	17	24	17	16	16	14		49	400	172	22.0	7.82	A
70	70	FBSCDS25070	/ THAPA NIRJA TEJBAHADUR RAMA	20	19	18	14	18	30	20	27	16	20	18	27	20	29	17	22	17	18	17	14		49	450	192	22.0	8.73	A+

*Bhandekar*

**I/c PRINCIPAL**  
Valia C. L. College of Commerce  
& Valia L. C. College of Arts  
Autonomous  
Gujarati Linguistic Minority Institution  
Andheri (West), Mumbai- 400053.